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Instructions:

e Part A is Compulsory
o Provide short answers in given space.
o Do not need to show any workings.
o Answer five (05) quesiions only from Part B.
o Provide answers in separate sheets (answer booklet) which will be given in the
examination.
o Show all your workings.
o Number of pages in the paper is Seven (07).
o All the symbols are in standard notation unless they are defined.
o All the relevant statistical tables are attached with this paper.
e Do not need to use graph sheets in this paper.

o Attach the Part A to the Answer script of the Pait B




Q6 The volume of the juice in a cup which filled by a machine is set to be 250ml.
However, customers have complained to the manufacturer that the volume of the
juice in a cup is less than 250ml. So, the machine owner collected juice volume
data from a sample of 20 cups of juice and identified that the sample mean of the
volume of juice is 248m! and sample standard deviation is 25ml, Then owner of
the juice machine was testing a hypothesis to sce the validity of the customers
compling,
a)  State the corresponding hypothesis (Null and alternative) that the owner of  (20%)
the juice machine test to see the validity of the customers compline.
b) Find the test statistics associated with this hypothesis testing (20%)
c) Ifthe owner wants to test this hypothesis at 5% siguificant level, then what ~ {15%)
is the critical value/s associates with this test?
d)  Test the hypothesis at 5% significant level and state your decision regarding (20%)

the hypothesis.
e) Interpret your findings in question Q6 d). (10%)
f)  State the assumptions that you made for this hypothesis testing. (15%)

Q7 A study was conducted to determine whether there is an irapact of the number of “
years of experience to the annual salary for a particular profession. The following
table provide the experience in years and the annual salary of 10 number of

employees in the particular profession.

Number
of ycars
of

Experie
nce 13 16 22 2 8 26 19 20 1 4
Current
annual
salary
{Rs. {
00000) 26.1 1 332 | 365 165| 2641 37.1; 338 36.1| 169] 19.8 - ;

a) Identify the independent variable and dependent variable. (10%)

b)  Calculate the correlation coefficient for above data. Interpret your answer of  (20%)
the value of correlation coefficient.

¢c)  Draw the scatter plot for dependent variable against the independent (20%)
variable. What can you say about the relationship between independent

variable and dependent variable according to the plot?




d)  Find the equation of the best fitied simple lincar regression model of the (30%)

above data.
¢) Interpret the found regression coefficient in part d). (10%)
f)  Use the estimated line of regression to annual salary of an employee who has (10%)

5 years’ experience.
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f Distribution: Criticd Values of
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